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Seat No.

I

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C321102

Subject Name: ELECTRONICS NETWORKS
Time: 10.30 AM TO 12.00PM

Instructions:

Agtempt all questions.

Date: 14-06-2017

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of I mark.
4. Useof SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. U#H el ([dsel.
The unit of capacitance is
1. | A Farad B. Coulomb
C. Henry D. Weber
F{ley «ll Asu
. |A | ¥s B. | sctiol
C. |3ql D. | au?
Two capacitors 4 uF and 6 pF are connected in parallel then total capacitance 1s
2. | A 10 pF B. [2uF
C. | /10 uF D. |12/5puF
ol 30RER 4 pF Aol 6 pFal AR HL Alscll §& 3UREA
e [A. | 10pF B. [2uF
C. | 1719 uF D. |12/5uF
The unit of inductance is
3. | A. | ampereturns B. | weber
C. | ohm D. | henry
Bo§5eod oll AsH
3. | A [ A8 B. | duR
C. |2llen D. 134l
Energy stored in inductor is
4. |A. | W=12LFP B. [w=1/2CV?
C. [w=12CL? D. [ None of these
Bo55e? HL 40)s UAC] Al
¥. [A. [W=12LF B. |W=1/2¢CV?
— 7
C. |wW=12CL D. | a3 «18l
When 200 & 302 resistors connected in series the total resistance is
5. [A [500 B. |10Q
C. [ 6000 D. |70Q
213 200 & 300 oll IRR2RA A RR3 UL A scrHl 41 dl et AR
4. TA J500 B. [100
C. 16000 D. |70Q
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Which one is passive element
6. |A. |BIT B. | Resistor
C. |FET D. | Op-amp
(1ot Wil sl Urlla AcllNoe B
C. | FET D. | Op-amp
The point at which two or more elements meet is called
7. | A. | branch B. |node
C. [loop D. | mesh
A ¥ dgl ay delllee @ Weoe U UA Aol g sdald
9. | A |dix B. lsdls
C. ldqu D. [1g
Dual of inductance is
8. [A. [ capacitance B. | conductance
C. | resistance D. | Voltage source
BoS5eodl o] SYu
¢. |A | 3R B. | so558
C. |3 D. | dl@ A
The internal resistance of ideal voltage source is
9. | A. 0Q B. |10
C. |10 D. [o0Q
wBse dlede AR ol wis vaAu decl g
€. [A. 0 Q B. |10
C. |10 D. [o0Q
Dual of voltage is
10. [ A. | current B. | resistance
C. | conductance D. | inductance
dlee of SYue g B
. | A | s B. |3y
C. | sssex Bsse
Which is used in mesh analysis ?
11. |A. | KCL B. |KVL
C. | Kramer rule D. | None of these
Dol AellfdAld W g aud B2
9. | A. | KCL B. | KVL
Co 3R 3¢ D. | 332 «13
Any linear bilateral network having energy sources and resistances can be replaced
by equivalent circuit consisting of voltage source in series with an equivalent
12 resistance.” Is a statement of which theorem?
" [ A. | Norton’s theorem B. | Thevenin’s theorem
C. | Maximum power transfer D. | None of these
theorem
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58 [@AR2R cus@2A Aeal ¥ Rol Aol Al wal vl sl d As
AUGEd uRUa ¥ Rul dl@s AR wal doll Apllil warlu sl dsuell
2. | wecll ausla B 2l als sl U o B 2
A | ofléot ofl @au B. 1 93[et oll @a2u
Co | DEAHH e gleg? @y [P | Al o
When the image impedances of port 1-1° and port 2-2” are equal to each other then
13 image impedance is called
" | A. | Characteristics impedance B. | Transfer impedance
C. | Driving point impedance D. | Iterative impedance
(3 WE 1-17 Aol WE 2-27 ot BRSU Asollon WA wuil W dl 87w SRS A g
88 B 2
3. [ A | 33sedlR@s sRsu B. |olug? sRsu
C. | sisldol Wde sRsu D. | g23Ra sRisu
If electrical properties are changed when input and output terminals are interchanged
14 the network is called
" | A. | Symmetrical network B. | Asymmetrical network
C. | Input network D. | Output network
golye ol wBeye 2ilelct el 8AsElsel YUl eecia dl dal Azab o
¥, | A | AALlse Aeab B. | yRANdlsc Azal
C. | getye Aea D. | aiGeye Aeal
Relationship between characteristics impedance of symmetrical T and t network 1s
15. |A. [(Zom)*( ZoT }=2172 B. | ( Zom)*( ZoT =22/71
C. |[(Zon)*( ZoT =71/72 D. | None of these
RNEsA 7 val 1 Azad ol 535231 5 SRS a2 9 Ui B ?
W. A [ (Zon)*( ZoT y=2122 B. | (Zom)*( ZoT =22/71
C. | (Zor)¥( ZoT =721/72 D. | None of these
The algebraic sum of current meeting at a junction is zero —it is a statement of
16. | A. | KCL B. | KVL
C. | KPL D. | ALL OF THEM
W5 5ol U Ul olbll Yasl ol Aaoll Yol 8l & — il [Aust 5oy B 2
16. | A. | KCL B. | KVL
C. [KPL D. | Q3 1R
The two Laws which form basis of circuit analysis were stated by
17. [ A. | Kirchoff B. | Faraday
C. | Ohm D. | None of these
A [l 3 Foll wuR Abe Aell@RY wa B a sl wudel
. | A | Bdls B. 3%}
Co e D. | Q¥ o1
XIR+ZE M.F.=0 equation represent
18. | A. | KCL B. | KVL
C. | Ohm’s law D. | None of them
1@ EIR+EE M.F.=0 equation represent
" |A. |KCL |B. |KVL
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Co e ol Bau D. 1 Ady o3
Load current in thevenin’s equivalent circuit is given by

19. | A. | Vth/(Rth+RL) B. | (Vth*Vth)/Rth
C. | Vth/Rth D. | None of these
AMt [ U252 ol cls 522 9§ B 2

1¢. | A, [ Vi/(Rth+RL) B. | (Vih*Vih)/Rth
Dual of Open circuit is

20. | A. | Open circuit B. | Short circuit
C. | Voltage source D. | None of these
wuel A5z of syua

0. | A | lluet ulBe B. | alé uZe
C | dl@w A Ak o3
The quality factor of capacitor is

21. |A. | Qc=oC/R B. | Qc=oCR
C. [ Qc=l/oCR D. | None of these
FURleR ol sAll@d] ¥se? g B
A. | Qc=oC/R B. | Qc=oCR

. [C. [Qe=l/oCR D. [3A3e ol
In series R-L-C circuit if R=1ohm ,I.=1H and C=1F then fr=

22. |A. | (12m)Hz B. | (2n)Hz
C. |[(2/m)Hz D. | (l/m)Hz
RIR% R-L-C ¥2(32 Ul % R=lohm ,L=1H and C=1F & cll fr=

2. A T(2DHzZ B. | 2n)Hz
C. |[(2/m)Hz D. | (l/m)Hz
Selectivity=

23. [A. | i/BW B. | fr*BW
C. | BW/r D. |fr-BW
RAEREER -

3. A [a/BW B. [fr*BW
C. |BW/ir D. | fr-BW
Mutual inductance is a property associated with

24, [ A. | Onecoil B. [ One resistor
C. | Two or more coil D. | None of these
12) 22 ue Bossed YIUE sloll A Actodt B

2. |4 | As slsa B. |95 332
Cola el au slsa D. | Q3«1
Transformer works on

25. [ A. | Kirchoff’s law B. | Faraday’s law
C. | Snel’s law D. [ None of these
glasli? slott Guz 51U 53 B

U, [A | (Bls ol Qau B. 1333 ol R
C. e ol [an A3 o3

26. | For Doubly tuned air—core transformer
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A. | Itisused in Radio receiver B. | Has both sides of transformers are
tuned
C. | Itisused to increase Bandwidth | D. | All of these
SOlA 2ot R 512 gl w2
6. | A | A A RBRAR L awga B [ B | Qell 1 eSS eyet 8l B
Colads@u auiral auria & | D [ A3 «1@
Attenuator is used in
27. [ A. | Testing laboratories B. [ Volume control of radio receiver
C. | All of these D. | Volume control of tv receiver
Udoye AHL AuRjU B
0. | A | Aolledl 2oL HL B. | 3B RRGR ol ceyH 52l Ml
Co bl w D. 1 2ldl. RRlaR ol deyu sgle Hl
Attenuator is purely
28. [ A. | Inductive network B. | Resistive network
C. | Capacitive network D. | None of these
Aoy Ul g5
¢. | A | 8ssgla deak B. |:BRd Aeab
C. | 30RRa Azab D. A% o3
In symmetrical lattice attenuator with characteristic impedance Ro and attenuation N
29 the resistance of series arm is given by
© [A. TRI={RoN-D)}/(N+1) B. | RI={Ro(N)}/(N+1)
C. |RI={RoN+1)}/(N-1) D. | RI={Ro(N-1)}/(N)
RARsc ARY A2oyer § ol 55eRRRs SUSU Ro wal Moyl N Sl cll
sc. | AR wul ol AdReu g wa
A. | RI={Ro(N-1)}/(N+1) B. | RI={Ro(N)}/(N+1)
C. [RI={RoN+D}/(N-1) D. |RI={Ro(N-D}/(N)
Amplitude equalizer are used in
30. | A. | Speech reproduction B. | telephony
C. | Transmission lines D. | All of these
A[Ueys BsACIBB AU AU B
30. | A | adla fllgset B. |2(@slell
Co | gifatet clget Do ol 1
For symmetrical-T attenuator has 40 db loss and load impedance of 300 Q then value of
31 R2is
AL ] 3Q B. [6Q
C. |4Q D. [5Q
RAZsE-T A2oje? HI2 40 db A 4ol Als BRASU 300 Q sl dl R2o{l Buc
3%. [A 30 B. [6Q
C. |4Q D. [5Q
It passes certain band of frequencies.
32. | A. | Band stop filter B. | All pass filter
C. | Low pass filter D. | Band pass filter
Bl glsal ol wys5 ds A WA 53 B
3R. -
A als R (e B. e wt Gee?
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Coldl wy Beer D. | ds iy Bee?
For constant k type high pass filter
33, | A [ fe=1/4nsqrt(LC)) B. [ fe=1/(4n+sqit(LC))
" C. | fe=l/(Am-sqri(LC)) D. | fe=l/(4a*saqrt(LC))
slee ktype 6l18f U Bee? w2
33. A, [ fe=l/(4n/sqrt(LC)) B. | fe=1/(4ntsqrt(LC))
C. | fe=1/{4zn-sqrt{LC)) D. | fe=l/(Ax*sqrt(L.C))
AT or 7 network is called constant-k type if
34, | A [ Z1224K*K B. |[Z172=K*K
C. | Z1/Z2#K*K D. | ZVZ2=K*K
Thx A2ah o skeek type sdcl2 %l
3%. A, [z1727/K*K B. | Z1Z2=K*K
C. |Z1/Z2#K*K D. |Z1Z2=K*K
In m-derived filter value of m is
35. [A. | m>1] B. [m<0
C. [0<m<] D. [0>m>1
m-derived (22 U1
34. A, [m>1 B. [m<0
C. | 0<m<l1 D. [0>m>1
Frequencies between 1000 Hz to 2100 Hz should pass. All other frequencies should
36 stop. Which filter should use
" | A. | Low pass B. | High pass
C. | Band pass D. | Band stop
1000 Hz &l 2100 Hz alA{l glscill Wi utat. ofley aitll R MU Ul 2Ug sl
(3ce2 Ul olal
36. .
Al dls ey (3ee? B el wat (ee?
Coldl wa Bee s w (3ee?
In constant-k type filter value of (k*k) is
37. [A. [CL B. [11C
C. [Lc D. [LC
constant-k type U (k*k) ol aeq
39. [a. JCL B. [11C
C. [Lc D. [LC
Inductance is the ability of a coil to oppose.
38. | A. | Current B. | Voltage
C. | Current change D. | Voltage chnge
Bssed A sloe oll 9 [AAY s2clell Ry uAd B 2
3¢. |[A | yale B. | dledw
Colyaus 3212 D. | i@ 32512
Two inductuctors are in series their equivalent will be
39. [A. [L1+L2+2M B. [L1-12
C. [(L1+1L2)«L1L2) D. [none
3¢ C{ Bo55e? ol RR3 HL WSl uRruu g 2
' [Li+1242M [B. [Li-12
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C. |[(Li+L2)/(LiL2) D. | 2 AR
If Zoc=120Q and Zsc=30Q2 , the characteristic impedance 1s
40. [ A. | 30Q2 B. | 60Q
C. [ 120Q D. | 150
%S| Zoc 1200 and Zsc=300 &l <l 3sed] BRASY
80. A T30Q B. | 60Q
C. [ 120Q D. | 150
Which of the following quantity remains same in parallel circuit
41. | A. | Current B. | Voltage
C. | Current and Voltage D. | None of these
Wetd AlFe Hl umel 58 A[ wed i@
$9. | A | yale B. | Q)%
Co lyale e diee D. | dku «3
Three resistance of 2 Q) each are connected in star. In equivalent delta representation
47 each resistance will have a value of
AL 3.4Q B. | 6Q
C. [0.6Q D. |52Q
AR B2 ofl @12 58t HL BHA 20 B dl Aot URRUHL 3¢l saA8tet HL
g2 | €38 ol Bud
A, | 3.4Q B. | 6Q
C. [0.6Q D. |52Q
Electrical current cannot flow if the circuit is
43. [A. |open B. |close
C. | short D. | loose
[Ceycle of Bz ul csel oll u b
¥3. | A | dllust B. | scllo
Coletle gt
An ideal voltage source should have
44. | A. | Large emf. B. | Zero internal resistance.
C. | small emf D. | none of these.
wEse dledr Al A g dlg wled
¥, | A | dlg 8.8l0.ls. B. | (33 wils way
C. | oo 8.0 As. Ak ol
Ideal current source should have
45. | A. | large value of current B. | infinite internal resistance.
C. [ zero internal resistance. D. | low value of voltage
wBse 522 A ol g &lg Alen
su. | A | 2l Aey o1l 522 B. | uoid wiAs vaRly
C. | B3RA wils maAu D. | oiefl Ay ol e
If a circuit does not contain any source of energy or emf, it is known as
46. | A. | unilateral circuit. B. | bilateral circuit.
C. | active network. D. | passive network.
3. | Al ul¥e § Bul 58 url Aot WA 5 8.3, o1l 8l Al g sda
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A | yFlazed Azad B. |wgsa2ra Aead
C |ARa Aeab D. QR Aead
If a 5K 3 resistor 1s placed across a 10v supply, the current will be
47. | A. | 20mA B. [Z2mA
C. [0.02mA D. [0.2mA
ol 5K oll WaRlY 10v Alala 1L YBEA ol 522 9 UA
89. [A [20mA B. [2mA
C. [0.02mA D. [0.2mA
The circuit whose properties are same in either direction is known as
48. | A. | unilateral circuit. B. | bilateral circuit.
C. | irreversible circuit D. | reversible circuit
Al AlFz 3 BuL oA (Bl Hl sARse YU duiat 23] 8lat da
$¢. | A | yFaza Azad B. |wgsa2ra Aead
C. | 8Raflue Aeak D. | RaRlud Aeck
KCL is applied at
49. | A. | Junction B. [ Closed path
C. | Branch D. | Resistors
KCL AHL cuR(2l B
¥e. | A | sl B. ol uRua
Cluyin D. | ucRal
Superposition theorem can be applicable to
50. | A. | Passive elements B. [ Linear bilateral network
C. [ Non-linear bilateral network D. | None
JuRUBelel Bay Aul auAd 8
yo. (A [URla AldNe B. |[@AFaR cugs@2Re Azab
Cola@Far cigsazae dAeak | D [ A3«
At resonance
51, A, [ XC> XL B. | XC< XL
C. | XC=XL D. | none
ol YU
1. [A TXC>XL B. [XC<XL
C. | XC=XL D. | none
A series RLC circuit has a resonance frequency of 160 kHz and a Q-factor of 100. Its band
52 width is
" |A. | 1.6kHz B. [0.625kHz
C. | 16 MHz, D. | None of these
%l 818 @R rLC uBe A Y0ilelu (Bsciall 160 kHz W\ Q-factor 100 Sl dl Aell
wa. | AslQa secll fla
A, | 1.6 kHz B. [0.625kHz
C. | 16 MHz D. | None of these
Unit of Quality factor (} for a coil is
53. | A. | Watt B. |[Joule
C. | Hemry D. | No unit
5lod ol sal[@e] 3522 q ol AsH g B
Y3, A B
- | dle - %
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C. | &4l D. a5y o8l
Power factor at resonance is equal to
54. [A. |1 B. |0
C. | Can’t be determined D. | 141
Aol duld ulaR FseR 9w
vy, |A. |1 B. |0
Co | aldl otl asi D. |14l
Inductive reactance equal to
55. [A. | 2#fL B. | 1/2xfL
C. | 2xfC D. [ none
gssela Rulsgy A sloll GlRGIR Ul
. A To2afL B. [1/2zfL
C. | 2xfC D. [ none
The unit of flux is
56. [ A. | Henry B. | Weber
C. [Ohm D. [ Joule
selsel oll s 9 B
us. [A |34 B. 1 Qo
C. | 2llen D xa
The primary and secondary winding of transformer are linked each other by
57. | A. | Conduction B. | Mutual inductance
C. | Self inductance D. | None of above
al2slif? alyan?] wa A553] aesslool Asollost A Aol ol lsAcll sl &
yg, | A | 555t B. | 12ud 8552
C. | Qes Bsseu D. | A% B
Which one is not phase equalizer
58. | A. |constantK B. | series type
C. | shunt type D. | Full series
Ul sy 58 8sAUESHR 18l
ye. | A | sleée K B. | RAR» asfu
C. | e alfu sl RR
An attenuator contains
59. | A. | Resistances network B. | RL network
C. [ RC network. D. | LC network
UoyoleR g HRAd B
ye. | A | A Azab B.|RL slga
C. |rcA2ab D. |Lcagab
The frequency which separates the pass and and stop band is known as
60. | A. | Audio frequency B. | Radio frequency
C. | Cut-off frequency D. | Resonant frequency
YRS wal RIUGS ol UeEdl 5 55l A 9 sdala
50. : :
A R (Bs<R B. 3B GsdR

http:/www.gujaratstudy.com

9/11




http://www . gwaratstudy.com

C. | se-ly (sdR D. |33+ (3sdRl
Passive filters not uses

61. [ A. | capacitor B. |inductor
C. | Operational amplifier D. | None of above
WRla (Beer gy o8l aturg

6q. | A | 30le? B. | gsse?
Co | 2ludaeld AT slAR D. 1 a3y o
Find quality factor of inductor. L=50H, ©v=2,R=20£2

62. [A. [5 B. [10
c. |15 D. [20
83522 of sAlllddl ¥s22 llbll. L=50H, »=2,R=20Q

S TA. |5 B. [10
c. |15 D. [20
Find bandwidth for f1=100Hz, f2=250 Hz

63. [A. [350Hz B. [50Hz
C. | 150 Hz D. [100Hz
f1=100Hz, £2=250 Hz U2 dsAa g

$3. [A. [350Hz B. [50Hz
C. | 150 Hz D. | 100 Hz
Fix attenuator is called

64. [A. [Shunt B. |[Pad
C. | Equalizer D. | None of these
Bsu A2oyvler ol g sdala

o¥. | A | B. Qs
C. | ssQeuesns? AL
Which is phase equalizer?
A. | Lattice B. | Shunt

63. | C. | Series D. [ Full shunt
% 50 BsAUSR B?

su. | A AR B. 19
C | AR gcl o2
Loss in dB for attenuator is given by

66. | A. [ 10logl0(Pi/Po) B. [ 20loglO(Pi/Po)
C. | 10loge(Pi/Po) D. [ 20loge(Pi/Po)
W2oyvle? U2 dB UL Al Aoltel slclala

$5. [A. T 10log10(Pi/Po) B. [ 20loglO(Pi/Po)
C. | 10loge(Pi/Po) D. | 20loge(Pi/Po)
Relation between dB and Neper is

67. | A. | dB=8.686xlogeN B. | dB=8.686xloglON
C. | dB=0.868xlogeN D. | None of these
dB sl Neper A g ol B

¢9. | A. [ dB=8.686xlogeN B. | dB=8.686xloglON

68. | Notch filter is
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A. | Band stop filter B. | Band pass filter
C. | High pass filter D. | Low pass filter
Al (3R A §q (e B
A | s R (Bee? B. | ds wi (Bee?
5S¢ TC |16 wt Gee? Al w (Bee?
For constant k high pass filter L is
69. |A. [L/nfc B. | k/dnfc
C. | Clartc D. | None of these
sleee k &lef WA (3ee: e L ol deyy g aux
s¢. [A. [Liaxte B. | k/dnfc
Find loss in dB for Pi=100,Po=10
70. |A. [20 B. |10
C. [30 D. |15
Pi=100,Po=10 H[2 dB Hl ¢l 2kl
90. A 20 B. |10
C. |30 D. |15

S Rk R R K
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